
Q.1 The ______ Ocean is the shallowest of the world's five major oceans.

Ans 1. Pacific

2. Atlantic

3. Arctic

4. Indian

Question ID : 764584833
Status : Answered

Chosen Option : 1

Q.2 ______ म� बीज के बजाय शंकु होत ेह� और उ�ह� अनावृतबीजी कहा जाता है।

Ans 1. शंकुधारी वन

2. सदाबहार वन

3. �ापक वन

4. पण�पाती वन

Question ID : 764584831
Status : Answered

Chosen Option : 4

Q.3 The folk dance Maruni is performed during ______ .

Ans 1. funerals

2. Dusshera

3. weddings

4. Holi

Question ID : 764584827
Status : Answered

Chosen Option : 1
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Q.4 The chemical commonly used in baby diapers for its super absorbent properties is
____________.

Ans 1. Sodium thiosolate

2. Sodium polyacrylate

3. Silver Iodide

4. Ammonium Nitrate

Question ID : 764584830
Status : Answered

Chosen Option : 2

Q.5 ______ ने 1885 म� मुंबई क� भारतीय रा�ीय कां�ेस क� बैठक क� अ�य�ता क�।

Ans 1. जॉज� यूल

2. उमेश च�� बनज�

3. दादाभाई नौरोजी

4. बद���न तैयबजी

Question ID : 764584836
Status : Answered

Chosen Option : 3

Q.6 Who was known as 'Devanampriya Priyadarsi'?

Ans 1. Chandragupta Maurya

2. Bindusara Maurya

3. Ashoka Maurya

4. Mahapadma Nanda

Question ID : 764584837
Status : Answered

Chosen Option : 1

Q.7 अं�ेजी भाषा म� सा�ह�य के �े� म� नोबेल पुर�कार से स�मा�नत होने वाला पहला ��� ______ है।

Ans 1. खुशवंत �स�ह

2. �डयाड� �कप�ल�ग

3. चेतन भगत

4. र��कन बॉ�ड

Question ID : 764584839
Status : Answered

Chosen Option : 2
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Q.8 What was India’s rank in the Commonwealth Games 2018 in terms of number of gold medals
won?

Ans 1. Third

2. First

3. Second

4. Fourth

Question ID : 764584854
Status : Answered

Chosen Option : 1

Q.9 ______ is the India’s first ever individual gold medallist at the Olympics.

Ans 1. K. D. Jadhav

2. Sushil Kumar

3. Gagan Narang

4. Abhinav Bindra

Question ID : 764584850
Status : Answered

Chosen Option : 3

Q.10 ______ पवन बल मापने का यं� है।

Ans 1. बोलोमीटर

2. आ��तामापी

3. सै�लनोमीटर

4. पवन-वेग-मापी

Question ID : 764584832
Status : Answered

Chosen Option : 4

Q.11 36व� संशोधन न े�स��कम को भारतीय संघ का पूण� रा�य बना �दया और ______ अनुसूची को लो�पत �कया।

Ans 1. नौव�

2. �यारहव�

3. दसव�

4. आठव�

Question ID : 764584843
Status : Answered

Chosen Option : 2
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Q.12 बीटन कप ______ से जुड़ा है।

Ans 1. हॉक�

2. बैड�म�टन

3. गो�फ़

4. फ़� टबॉल

Question ID : 764584845
Status : Answered

Chosen Option : 3

Q.13 Uttarayan festival is celebrated in the month of ______ .

Ans 1. March

2. April

3. January

4. May

Question ID : 764584826
Status : Answered

Chosen Option : 1

Q.14 ______ was established in 1935 on the recommendation of Hilton-Young Commission.

Ans 1. Bank of Baroda

2. State Bank of India

3. Central Bank of India

4. Reserve Bank of India

Question ID : 764584828
Status : Answered

Chosen Option : 4

Q.15 Who has been named as the captain of Cricket Australia's ODI team of the decade?

Ans 1. Michael Clarke

2. MS Dhoni

3. Kumar Sangakkara

4. Chris Gayle

Question ID : 764584852
Status : Answered

Chosen Option : 1
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Q.16 सड़सठव� संशोधन न ेपंजाब म� रा�प�त शासन को ______ वष� क� कुल अव�ध तक बढ़ाने क� सु�वधा �दान क�।

Ans 1. पांच

2. तीन

3. चार

4. छह

Question ID : 764584842
Status : Answered

Chosen Option : 1

Q.17 �वजय घाट ______ का �मारक है।

Ans 1. लालबहा�र शा��ी

2. र�व��नाथ टैगोर

3. इं�दरा गांधी

4. महा�मा गांधी

Question ID : 764584841
Status : Answered

Chosen Option : 1

Q.18 द ह��ग�ग ऑफ अफजल गु�’ के लेखक कौन ह�?

Ans 1. �करण बेद�

2. नटवर �स�ह

3. �वनय सतप�त

4. अ�ंध�त रॉय

Question ID : 764584840
Status : Answered

Chosen Option : 2

Q.19 ______ संशोधन ने भारत-पा�क�तान समझौते म� �दान �कए गए बे�बरी संघ (प��म बंगाल म� ��थत) के
भारतीय �े� के क�जे को �रयायत द�।

Ans 1. आठवाँ

2. दसवां

3. �यारहवाँ

4. नौवां

Question ID : 764584848
Status : Answered

Chosen Option : 1
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Q.20 थबाना नटलेनयना ______ का सव��च �शखर है।

Ans 1. अ��का

2. उ�री अमे�रका

3. ए�शया

4. यूरोप

Question ID : 764584834
Status : Answered

Chosen Option : 2

Q.21 The first Indian to win the All England Badminton Championship is ______ .

Ans 1. Prannoy Kumar

2. Srikanth Kidambi

3. Prakash Padukone

4. Pullela Gopichand

Question ID : 764584844
Status : Answered

Chosen Option : 2

Q.22 आ�थ�क सव��ण 2018-19 के अनुसार, �दसंबर 2018 के अंत म� भारत का �वदेशी ऋण �कतना था?

Ans 1. यूएस डॉलर 121.1 �ब�लयन

2. यूएस डॉलर 221.1 �ब�लयन

3. यूएस डॉलर 421.1 �ब�लयन

4. यूएस डॉलर 521.1 �ब�लयन

Question ID : 764584851
Status : Answered

Chosen Option : 2

Q.23 क�व राजवंश क� राजधानी ______ थी।

Ans 1. पाट�लपु�

2. पुहार

3. त��शला

4. राजगीर

Question ID : 764584838
Status : Answered

Chosen Option : 2
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Q.24 �व� म� �वजडन ली�ड�ग ��केटर का पहला भारतीय �ा�तकता� ______ है।

Ans 1. रा�ल ��वड़

2. वीर�� सहवाग

3. स�चन त��लकर

4. क�पल देव

Question ID : 764584849
Status : Answered

Chosen Option : 3

Q.25 अंतरा��ीय समु�� संगठन का मु�यालय ______ म� ��थत है।

Ans 1. पे�रस

2. �वयना

3. �जनेवा

4. लंदन

Question ID : 764584846
Status : Answered

Chosen Option : 2

Q.26 Which of the following won the ‘Best Country Album’ award at the Grammy Awards 2019?

Ans 1. Brothers Osborne – Port Saint Joe

2. Ashley McBryde – Girl Going Nowhere

3. Kelsea Ballerini – Unapologetically

4. Kacey Musgraves – Golden Hour

Question ID : 764584855
Status : Answered

Chosen Option : 4

Q.27 Which of the following is not a tributary of Krishna?

Ans 1. Koyna

2. Bhima

3. Tawa

4. Tungabhadra

Question ID : 764584835
Status : Answered

Chosen Option : 3
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Q.28 अनु�छेद 23-24 ______ स ेसंबं�धत है।

Ans 1. शोषण के �खलाफ अ�धकार

2. धम� क� �वतं�ता का अ�धकार

3. समानता का अ�धकार

4. संप�� का अ�धकार

Question ID : 764584847
Status : Answered

Chosen Option : 2

Q.29 �दसंबर 2019 म�, डोना� ड �ंप अमे�रक� इ�तहास के ऐसे ___________ रा� �प�त बन े�जनके �व�� महा�भयोग
लाया गया है।

Ans 1. �सरे

2. चौथे

3. तीसरे

4. पांचवे

Question ID : 764584853
Status : Answered

Chosen Option : 2

Q.30 The Minimum Support Price (2019-20) of Ragi is ______ .

Ans 1. Rs. 2100

2. Rs. 3150

3. Rs. 2897

4. Rs. 1700

Question ID : 764584829
Status : Answered

Chosen Option : 2

Section : Reasoning & Mathematical Ability
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Q.1 XYZ Company has decided to recruit engineers. A candidate must
a) be a B.Tech with at least 65% marks.
b) have work experience of minimum 3 years.
c) should be ready to be on probation for a year.
d) should be at least 22 years old as on 01-05-2019.

In case a condition given above is not satisfied, an alternate condition for the same is given
as below:
1) If (a) is violated but the candidate has obtained at least 50% in graduation and has at least
three years of working experience, the case may be referred to the General Manager (GM).
2) If (b) is violated but the candidate is a computer engineer with at least 1 year of work
experience, the case may be referred to the Deputy Manager (DM).

Kailash is an electrical engineer working in a software company for four years. He has scored
55% in his graduation (B.Tech). He was born on 15-05-1994. He is ready to be on probation
for an year. Then -

Ans 1. His case is referred to DM.

2. He is selected.

3. Data inadequate

4. His case is referred to GM.

Question ID : 764584864
Status : Answered

Chosen Option : 2

Q.2 �न�न�ल�खत सं�या �ृंखला को पूण� कर�-

16, 21, 31, 46, 66, ______

Ans 1. 90

2. 86

3. 76

4. 91

Question ID : 764584867
Status : Answered

Chosen Option : 4

Q.3 Jaya, Kirti, Lalita, Meenakshi and Nita are sitting on a bench. Nita is to the left of Jaya and is
at one end. Meenakshi is to the left of Lalita who is not at the end. Who is to the left of Kirti?

Ans 1. Nita

2. Lalita

3. Jaya

4. Meenakshi

Question ID : 764584862
Status : Answered

Chosen Option : 1
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Q.4 Find the wrong term in the following series:-

LO, HK, DG, ZC, UX

Ans 1. DG

2. ZC

3. UX

4. HK

Question ID : 764584856
Status : Answered

Chosen Option : 3

Q.5 एक �न��त कोड म�, "MANIAC" को "MNAICA" �लखा गया है, "SANITY" को कैस े�लखा गया है?

Ans 1. SNATIY

2. SNAIYT

3. SNAITY

4. SNAYIT

Question ID : 764584861
Status : Answered

Chosen Option : 2

Q.6 उस जोड़ी का चयन कर� जो उसी �कार स ेसंबं�धत है �जस �कार से �� म� द� गई जोड़ी संबं�धत है।

GL : JO : LQ :: ?

Ans 1. TD : WH : ZA

2. UE: WG: ZI

3. TD : VH : ZI

4. UE : XH : ZJ

Question ID : 764584860
Status : Answered

Chosen Option : 3

Q.7 �दए गए �वक�प� म� तीन समान ह� और एक �वषम है। उस �वक�प को �ात कर� जो अ�य के समान नह� है।

Ans 1. HKN

2. LOT

3. WZC

4. PSV

Question ID : 764584858
Status : Answered

Chosen Option : 3
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Q.8 In the question two statements are given, followed by two conclusions, I and II. You have to
consider the statements to be true even if it seems to be at variance from commonly known
facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

Statement 1 : All cats are jackals.
Statement 2 : No tigers are cats. 

Conclusion I : Some jackals are tigers. 
Conclusion II : All tigers are jackals.

Ans 1. Both I and II follow

2. Only conclusion I follows

3. Only conclusion II follows

4. Neither I nor II follows

Question ID : 764584866
Status : Answered

Chosen Option : 4

Q.9 उस �वक�प का चयन कर� जो तीसरी सं�या से उसी �कार स ेसंबं�धत है �जस �कार स ेपहली सं�या �सरी
सं�या से संबं�धत है। 

1.07 : 0.0107 :: 1.19 : ?

Ans 1. 0.0119

2. 1.0019

3. 0.00119

4. 0.119

Question ID : 764584868
Status : Answered

Chosen Option : 2

Q.10 उस �वक�प का चयन कर� जो तीसरे पद से उसी �कार स ेसंबं�धत है �जस �कार स ेपहला पद �सरे पद से
संबं�धत है।

को�रया : वॉन :: ईरान : ?

Ans 1. �दहा�म

2. टका

3. �रयाल

4. द�नार

Question ID : 764584859
Status : Answered

Chosen Option : 1
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Q.11 A ने B स ेकहा "आप मेरी ब� के ससुर क� सास के बेटे ह�।" B, A स ेकैस ेसंबं�धत है?

Ans 1. B, A का �पता है

2. B, A का बहनोई/साला है

3. B, A का भाई है

4. B, A का पु� है

Question ID : 764584863
Status : Answered

Chosen Option : 3

Q.12 Two statements are given followed by two conclusions I and II. Considering the statements
to be true, please decide which conclusions follow.

Statement : People who are sick need to be treated.
Sakshi was sick and was hence taken to the hospital for treatment.

Conclusions :
I. Healthy people do not need treatment.
II. Sick people need to go to the hospital for treatment.

Ans 1. Neither I or II follows

2. Both conclusion I and II follows

3. Only conclusion II follows

4. Only conclusion I follows

Question ID : 764584865
Status : Answered

Chosen Option : 3

Q.13 �न�न�ल�खत अ�र �ृंखला म� लु�त पद �ात कर�:-

EHK, JMP, ______ , TWZ

Ans 1. RSV

2. ORU

3. STU

4. OSV

Question ID : 764584857
Status : Answered

Chosen Option : 4

Q.14 य�द A:B:C = 3:6:9 है, तो A/B:B/C:C/A का अनुपात �ात कर�?

Ans 1. 1:4:9

2. 2:3:9

3. 3:4:18

4. 2:6:9

Question ID : 764584879
Status : Answered

Chosen Option : 3
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Q.15 Find the sum of digits of the biggest 6-digit number divisible by 14, 15, 16, 18 and 24.

Ans 1. 40

2. 36

3. 44

4. 48

Question ID : 764584873
Status : Answered

Chosen Option : 2

Q.16 Find the value of X: 56/8 × X/2 + 28/7 = 11

Ans 1. 1

2. 3

3. 2

4. 4

Question ID : 764584869
Status : Answered

Chosen Option : 3

Q.17 एक आदमी के पास 1-�पए, 2-�पए और 5-�पए के �स�क� को �मलाकर 320 �पए ह�। इसम� हर �कार के
�स�क� क� सं�या बराबर है। उसके पास कुल �कतने �स�के ह�?

Ans 1. 60

2. 30

3. 90

4. 120

Question ID : 764584871
Status : Answered

Chosen Option : 4

Q.18 �कसी शहर क� जनसं�या 3 वष� तक 10 % क� दर स ेबढ़ती ह ैऔर �फर 4थ ेवष� म� 20 % कम हो जाती है,
वत�मान जनसं�या �या है, य�द शु� के पहले वष� म� जनसं�या 20000 थी?

Ans 1. 21296

2. 31944

3. 26620

4. 19360

Question ID : 764584876
Status : Answered

Chosen Option : 1
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Q.19 What is the ratio between 4 inches and ⅓ feet ?

Ans 1. 1:1

2. 4:3

3. 3:2

4. 2:3

Question ID : 764584878
Status : Answered

Chosen Option : 1

Q.20 In a chess board if 8 white squares are painted black, find the percentage of black squares on
the board?

Ans 1. 75 percent

2. 62.5 percent

3. 72.5 percent

4. 60 percent

Question ID : 764584875
Status : Answered

Chosen Option : 3

Q.21 च�वृ�� �याज �ैमा�सक के दर से मूलधन 15000 �पए पर 3 वष� म� साधारण �याज से 986 �पए अ�धक होता
है। �याज क� दर �ात कर�।

Ans 1. 12 ��तशत

2. 10 ��तशत

3. 8 ��तशत

4. 14 ��तशत

Question ID : 764584880
Status : Answered

Chosen Option : 3

Q.22 69 दशमलव को बाइनरी म� बदल�।

Ans 1. 1000110

2. 1000011

3. 1001001

4. 1000101

Question ID : 764584870
Status : Answered

Chosen Option : 2
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Q.23 What is the result when 0.129129129… is converted to a fraction?

Ans 1. 129/666

2. 43/999

3. 129/333

4. 43/333

Question ID : 764584872
Status : Answered

Chosen Option : 4

Q.24 A, B और C ने 1 वष� के �लए �मशः 5%, 6%, और 7% ��त वष� के �ववरणी (�रटन�) के बराबर धनरा�श का
�नवेश �कया। A और C क� कमाई म� अंतर 300 �पए है। B �ारा �नवेश क� गई रा�श �कतनी है?

Ans 1. 15,000 �पए

2. 20,000 �पए

3. 25,000 �पए

4. 10,000 �पए

Question ID : 764584877
Status : Answered

Chosen Option : 1

Q.25 A shopkeeper sells an item with 40% profit. Find the discount on selling price if he sells the
same item for Rs. 60, if his cost is Rs. 50.

Ans 1. 15.5 percent

2. 18.6 percent

3. 14.3 percent

4. 16.7 percent

Question ID : 764584874
Status : Answered

Chosen Option : 4

Q.1 �न�न�ल�खत �� म�, चार �वक�प� म� से, उस �वक�प का चयन कर� जो सही वा�य भेद का �वक�प हो

म� अपना शेष जीवन अमेरीका म� �बताऊँगी। 

Ans 1. �म� वा�य

2. सरल वा�य

3. संदेहवाचक वा�य

4. संयु� वा�य

Question ID : 764584889
Status : Answered

Chosen Option : 4

Section : General Hindi & English

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.2 �न�न�ल�खत �� म�, चार �वक�प� म� से, उस �वक�प का चयन कर� जो �र� �थान के �लए उपयु� श�द का सही
�वक�प है ।
��षण का अथ� होता है- दोष से ____________ ।

Ans 1. यु�

2. संचा�लत

3. मु�

4. चा�लत

Question ID : 764584886
Status : Answered

Chosen Option : 1

Q.3 �न�न�ल�खत �� म�, चार �वक�प� म� से, उस �वक�प का चयन कर� जो �दए गए श�द का सही त�सम �प वाला
�वक�प हो 
�गुना

Ans 1. �व�रत

2. द�ध

3. �ादश

4. ��गणु

Question ID : 764584883
Status : Answered

Chosen Option : 3

Q.4 �न�न�ल�खत �� म�, चार �वक�प� म� से, उस �वक�प का चयन कर� जो �दए गए श�द के �लए सही ��गु समास के
�व�ह का �वक�प हो
चव�ी

Ans 1. चार और आना

2. चार आना

3. चार का आना

4. चार आन� का समूह

Question ID : 764584882
Status : Answered

Chosen Option : 4

Q.5 �न�न�ल�खत �� म�, चार �वक�प� म� से, उस �वक�प का चयन कर� जो �दए गए श�द के �वलोम श�द का सही
�वक�प है ।
जागरण -

Ans 1. देखना

2. जागना

3. अनुभव

4. �न�ा

Question ID : 764584884
Status : Answered

Chosen Option : 4
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Q.6 �न�न�ल�खत �� म�, चार �वक�प� म� से, उस सही �वक�प का चयन कर� जो वा�यांश� के �लए एक श�द का
�वक�प हो 
�जसम� जानने क� इ�छा हो

Ans 1. �ाता

2. �ज�ासु

3. अ�ेय

4. वण�नीय

Question ID : 764584885
Status : Answered

Chosen Option : 2

Q.7 �न�न�ल�खत �� म�, चार �वक�प� म� से, उस �वक�प का चयन कर� जो सदा ��ी�ल�ग वाले श�द का सही �वक�प
नह� है

Ans 1. मधुरता

2. कां�य

3. गरदन

4. भड़ास

Question ID : 764584890
Status : Answered

Chosen Option : 2

Q.8 �न�न�ल�खत �� म�, चार �वक�प� म� से, उस �वक�प का चयन कर� जो �दए गए श�द के �लए ब�वचन श�द का
सबस ेअ�छा �वक�प है। 

�व�ा 

Ans 1. �व�ां

2. �व�ाय�

3. �व�ा�

4. �व�ाएँ

Question ID : 764584891
Status : Answered

Chosen Option : 4

Q.9 �न�न�ल�खत �� म�, चार �वक�प� म� से, उस �वक�प का चयन कर� जो �दए गए श�द के सही सं�ध-�व�छेद का
�वक�प हो 
सोमे�र 

Ans 1. सोम + ई�र

2. सोम + ऐ�र

3. सोम े+ इ�र

4. सो + मे�र

Question ID : 764584881
Status : Answered

Chosen Option : 1
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Q.10 �न�न �वक�प� म� से �नद�शानुसार वा�य प�रवत�न का �वक�प चु�नए
नानी न ेकहानी सुनाई| ( कम�वा�य )

Ans 1. नानी के �ारा कहानी सुनाई गई|

2. कहानी नानी ने सुनाई|

3. नानी कहानी सुनती है|

4. हमार े�ारा नानी स ेकहानी सुनी|

Question ID : 764584888
Status : Answered

Chosen Option : 1

Q.11 �न�न�ल�खत �� म�, चार �वक�प� म� से, उस �वक�प का चयन कर� जो �दए गए वा�यांश के �लए सही लोको��
वाला �वक�प है।

कु�हार अपना घड़ा ही सराहता है

Ans 1. अपनी मया�दा म� रहना

2. भरोसेमंद ��� का बेईमान हो जाना

3. समथ� ���

4. अपनी ही व�त ुक� �शंसा करना

Question ID : 764584893
Status : Answered

Chosen Option : 4

Q.12 �न�न�ल�खत �� म�, चार �वक�प� म� से, उस �वक�प का चयन कर� जो शु� श�द का सही �वक�प ह ै।

Ans 1. �ां�तकारी�

2. �ांतीक�रयो

3. ��तीकारीय�

4. �ां�तका�रय�

Question ID : 764584887
Status : Answered

Chosen Option : 4

Q.13 �न�न�ल�खत �� म�, चार �वक�प� म� से, उस �वक�प का चयन कर� जो �दए गए मुहावरे का सही अथ� वाला
�वक�प है।
एकांत को शांत करना

Ans 1. भलाई करना

2. लोग� क� भीड़ होना

3. अकेल ेम� सहारा बनना

4. सभी को चुप करना

Question ID : 764584892
Status : Answered

Chosen Option : 3

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.14 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given. 

The thunderstorm scared the dog, so (he hided under the) bed.

Ans 1. he hid over the

2. No correction required

3. he hid between the

4. he hid under the

Question ID : 764584896
Status : Answered

Chosen Option : 4

Q.15 Select the word that is spelled correctly.

Ans 1. Etiquiete

2. Etiquete

3. Etiquette

4. Etyquette

Question ID : 764584904
Status : Answered

Chosen Option : 3

Q.16 Select the most appropriate word that fills in the blank correctly and completes the sentence
meaningfully. 

I met an extremely ___________ professor in New York.

Ans 1. learnt

2. learns

3. learned

4. learning

Question ID : 764584899
Status : Answered

Chosen Option : 1

Q.17 Select the word that is closest in meaning (SYNONYM) to the word given below. 

STAID

Ans 1. humourless

2. funky

3. lazy

4. preen

Question ID : 764584903
Status : Answered

Chosen Option : 1
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Q.18 Select the most appropriate word that fills in the blank correctly and completes the sentence
meaningfully. 

This glass is breakable, please _________ with care.

Ans 1. handling

2. handle

3. handled

4. handles

Question ID : 764584898
Status : Answered

Chosen Option : 2

Q.19 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option
that gives the correct sequence in which these parts can be rearranged to form a meaningful
and grammatically correct sentence. 

P:who is 
Q:Even strangers
R: like a person 
S: respectful

Ans 1. PQRS

2. SRQP

3. QRPS

4. SQRP

Question ID : 764584900
Status : Answered

Chosen Option : 3

Q.20 The sentence below has been divided into three parts. Select the part of the sentence that
has an error. If the sentence has no error, select the option 'No Error'. 

Geethika, stop / bangings the door/ right away.

Ans 1. right away

2. Geethika, stop

3. bangings the door

4. No Error

Question ID : 764584894
Status : Answered

Chosen Option : 2
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Q.21 The sentence below has been divided into three parts. Select the part of the sentence that
has an error. If the sentence has no error, select the option 'No Error'. 

Eating nutrition/ food is good for / a healthy mind and body.

Ans 1. food is good for

2. No Error

3. a healthy mind and body.

4. Eating nutrition

Question ID : 764584895
Status : Answered

Chosen Option : 4

Q.22 Select the correct word (HOMONYM) that fills in the blank and makes the sentence
meaningful. 

Kritika said she ______ would like to go to the mall with Sofia

Ans 1. told

2. two

3. to

4. too

Question ID : 764584902
Status : Answered

Chosen Option : 4

Q.23 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option
that gives the correct sequence in which these parts can be rearranged to form a meaningful
and grammatically correct sentence. 

P:live in
Q: the 
R: We 
S: age of Science

Ans 1. QRPS

2. RPQS

3. SRQP

4. SQRP

Question ID : 764584901
Status : Answered

Chosen Option : 2

Q.24 Select the word that is spelled correctly.

Ans 1. Faceticous

2. Facetious

3. Facetisious

4. Facetishious

Question ID : 764584905
Status : Answered

Chosen Option : 2
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Q.25 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given. 

(Runs across the classroom), Anita tripped over the cord and hurt herself.

Ans 1. No correction required

2. Running across the classroom

3. Runned across the classroom

4. Ran across the classroom

Question ID : 764584897
Status : Answered

Chosen Option : 3

Q.1 Which of the following input device is a pointing device?

Ans 1. Trackball

2. Keyboard

3. Barcode reader

4. OMR

Question ID : 764584906
Status : Answered

Chosen Option : 1

Q.2 Which of the following statement is FALSE?

Ans 1. Add-ons are the software extensions to extend the functionalities of the web
browsers.

2. A browser is an application software.

3. Web browsers are the server-side programs.

4. Netscape Navigator is a web browser.

Question ID : 764584908
Status : Answered

Chosen Option : 4

Q.3 Which one of the following is NOT an input device?

Ans 1. Scanner

2. Monitor

3. Digitiser

4. Keyboard

Question ID : 764584912
Status : Answered

Chosen Option : 3

Section : Basic Computer Knowledge
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Q.4 MS-Office is a:

Ans 1. Hardware

2. Software

3. Malware

4. Firmware

Question ID : 764584913
Status : Answered

Chosen Option : 2

Q.5 Which of the following is NOT a menu item in MS-Word 2016?

Ans 1. Mailings

2. References

3. Layout

4. Tools

Question ID : 764584910
Status : Answered

Chosen Option : 1

Q.6 Which one of the following is a transport layer protocol?

Ans 1. RIP

2. BOOTP

3. UDP

4. DHCP

Question ID : 764584914
Status : Answered

Chosen Option : 4

Q.7 Which of the following statements is/are TRUE?

(i) Flat-bed scanners are image scanners.
(ii) Optical character recognition devices convert the bitmap images of characters to
equivalent ASCII codes.

Ans 1. Only (i)

2. Neither (i) nor (ii)

3. Only (ii)

4. Both (i) and (ii)

Question ID : 764584911
Status : Answered

Chosen Option : 4
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Q.8 With respect to e-mail, the full form of POP is:

Ans 1. Public Office Protocol

2. Post Operation Protocol

3. Post Office Protocol

4. Private Office Protocol

Question ID : 764584907
Status : Answered

Chosen Option : 2

Q.9 Which of the following is NOT a valid version of Windows?

Ans 1. Windows 10

2. Windows XP

3. Windows 9

4. Windows Vista

Question ID : 764584915
Status : Answered

Chosen Option : 3

Q.10 Which the following statement is FALSE?

Ans 1. The Google search engine is based on the PageRank algorithm.

2. PageRank is a graph-based algorithm.

3. Larry Page and Sergey Brin are the inventors of the PageRank algorithm.

4. Google was founded in 1999.

Question ID : 764584909
Status : Answered

Chosen Option : 4

Q.1 वह रणनी�त �या कहलाती है, �जसम� उ�चत सामा�जक धारणा� और �मलती-जुलती ग�त�व�धय� को
पा��म क� मूल साम�ी म� गु�त अथवा �म��त �प म� �न�हत रखा जाता है?

Ans 1. समावेशन

2. मू�यांकन

3. सरलीकरण

4. स��म�ण

Question ID : 764584919
Status : Answered

Chosen Option : 1

Section : Awareness about School Education & Examination Board & its Administration etc.
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Q.2 How many periodic tests must be conducted by the CBSE schools as per the ‘Secondary
school curriculum’ Volume 1 released in 2018-19?

Ans 1. 4

2. 1

3. 2

4. 3

Question ID : 764584924
Status : Answered

Chosen Option : 3

Q.3 In the 9 point grading system for grade X, the rank ‘E’ awarded by the board represents:

Ans 1. Top 1/8 of the passed students

2. There is no such grade in the ranking system of CBSE

3. failed students

4. Last 1/8 of the passed students

Question ID : 764584923
Status : Answered

Chosen Option : 3

Q.4 मान�सक ���या क� वह बनावट जो ऐसी सूचना �वशेष �प से �जसे लोग� ने स�य कथन� अथवा ��त���तय�
के �प म� ��तुत �कया हो, का �व�ेषण अथवा मू�यांकन करती है। ��तुत सा�य� और तक� को परख कर त�य�
के संबंध म� �नण�य करत े�ए, कथन� के अथ� दशा�ने क� ���या �न�म�त करती है।

Ans 1. रचना�मक �च�तन

2. सम�या समाधान

3. �ववेचना�मक �च�तन

4. �नण�य लेना

Question ID : 764584917
Status : Answered

Chosen Option : 3

Q.5 What is the grading scale used for assessment of co-scholastic areas in CBSE board
examinations?

Ans 1. 7 point scale

2. 9 point scale

3. 8 point scale

4. 5 point scale

Question ID : 764584921
Status : Answered

Chosen Option : 4

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.6 �श�क �ारा क� गयी �ववेचना जो �व�ा�थ�य� को अ�धक सट�क और उ�च-�तरीय ��त��या तक प�ँचाने म�
सहायक होती है, �या कहलाती है?

Ans 1. मू�यांकन

2. उपचार

3. शां�त �श�ण

4. मह�व �प�ीकरण

Question ID : 764584918
Status : Answered

Chosen Option : 4

Q.7 What is the name of the test meant for fore-telling, prediction and forecast designed to
predict the student's ability or readiness to undertake the study?

Ans 1. Norm-reference test

2. Standardised test

3. Prognostic test

4. Aptitude test

Question ID : 764584920
Status : Answered

Chosen Option : 4

Q.8 How many languages are compulsory for visually impaired students and for the candidates
with disabilities as defined in the Rights of Persons with Disabilities Act 2016?

Ans 1. 2

2. Depends on the student

3. 1

4. 3

Question ID : 764584922
Status : Answered

Chosen Option : 1

Q.9 �श�ण का वह �े� जो अ�भवृ�� और मू�य� से संबं�धत होता है�या कहलाता है?

Ans 1. �ान �े�

2. सं�ाना�मक �े�

3. मनोपेशीय �े�

4. भावा�मक �े�

Question ID : 764584916
Status : Answered

Chosen Option : 3
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Q.10 What is a ‘Nodal Centre’?

Ans 1. It is a school with all facilities to conduct CBSE board examinations and is easily
accessible to students

2. It is a model school that best demonstrates CBSE methods

3. It is a CBSE school in Delhi

4. It is a school centrally located providing all facilities for evaluation and is located in
the neighborhood of 10 schools

Question ID : 764584925
Status : Marked For Review

Chosen Option : 1
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